B iz |y No| B F % |Sec 1[Sec 2| Sec 3|Sec 4|15 m SSAA L
1 25 R & 2 0 0 1 3 |om]36F)] 143
2 21 ERR & 2 0 0 1 3 o0& |[37%)] 679
3 34 LR BA 2 0 0 2 4 [15]34%] 318
4 35 AR EZ 3 0 0 2 5 |14 [20%)] 450
5 17 BF BE&H | 2 0 0 3 5 |15 ]51%]430
6 7 Ky EX 6 0 0 0 6 |15[22%)] 775
7 15 $E T 3 3 0 1 7 |159] 9% | 543
8 23 FiE EE 3 1 0 3 7 |15 [18%)] 862
9 1 Z8 B 4 0 0 3 7 |15 [46%] 670
10 38 IEF B8 2 3 3 1 9 [2m]36%>]310
11 32 =l BA | 12 0 0 0 12 |05 |41%>] 766
12 30 E ZEh | 11 0 1 1 13 | 159] 78 | 222
13 5 hiE IEsk 12 0 0 1 13 [1%]27%#> ] 870
14 20 Tk e | 2 0 0 11 13|25 [ 10%)] 950
15 2 R B | 2 11 0 1 14 [15[18%0] 782
16 28 Fig BE 4 10 0 1 15 |14 | 4% | 950
17 18 IWE EX 1 13 0 1 15 |15 | 6% | 790
18 22 fhpk Xk | 2 0 10 3 15 [15]|23%) | 182
19 9 HE Rl 11 0 3 1 15 |15 |31F] 910
20 33 IR 1EBA 5 0 0 11 16 |19 | 40%>[582
21 31 KW EZ 12 1 3 1 17 [15]31% [ 909
22 13 K+t FIE 3 13 0 3 19 25| 6% [ 774
23 8 IR thft | 1 0 0 22 23 | 25| 36%) [ 854
24 12 FEBES 3 0 0 21 24 [15] 328 [ 598
25 10 =i HEF| 12 0 0 12 24 |34 11F)] 990
26 6 L - 3 0 0 22 25 [24]49%) (885
27 37 IEFE EH | 28 0 0 4 27 |34 [13%)]813
28 4 BJ)Il BA [ 16 0 12 2 30 |14 |18%)[558
29 26 B 1= 32 0 0 3 35 |24 | 3% | 662
30 36 N A 28 0 0 12 40 (14| 6% [ 214
31 14 =F @HF 13 0 33 5 51 |27 3% [ 94
32 27 =28 2z 2 0 0 51 53 |29 [31F[510
33 29 AE 58X [ 44 0 0 11 55 (04> | 46%) ] 486
34 16 = X2 | 54 0 0 1 55 | 14| 2%) [ 838
35 24 &l F=E 3 0 0 71 74 | 45| o | 461
36 19 gl EF 17 4 83 3 107 |25 ] 14% | 262




